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A. Answer the following items by choosing the best choice (a, b, ¢ or d).

1. He passed his examinations........... , he had some good news to tell his parents.
a. in other words b. all the same c. as a result d. in spite of that
2. When we describe a process or procedure, we often use the......... ; Tve\agéneral
description
a. past active b. present active ¢. past passive . pr
3. The lecturer............ name | always forget was as borin ugl this morning.

a. which b. whose ¢. who d. that

4. Great Britain is anisland that.......... _ anti ean and the North Sea. It.......... the

a. is surrounded / compris 46 surrounded / comprised

¢. surrounds / comprises d. surrounded / comprised

5. He loves to travel arénwnd orld and see different places such as........ Alps,......... Lake

a, ==/ -- ; b. the / the / the ¢, the / --- / the d, ---/the / ---

6. A 8f events in the past which entails following a time sequence or chronological
ord called .................. .
a. description b. narration c. exemplification  d. classification

7. One of the latest university developments ........ the foundation in 1969 of the Open University.
a. was b. is c. has been d. had been

8. Which of the following can be considered as a good definition?
a. A lecturer is a person who lectures.
b. An ammeter is used to measure electric current.
¢. A dictionary 1s a book like "Collins Cobuild English Dictionary".

d. Bronze is an alloy which is produced from copper and tin.
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9. Which of the following is TRUE?
a. Relative clauses are often used to qualify or give extra information.
b. It is good to give an example rather than a definition when a short definition is being

written.

c. When we describe things we do not need to define them at all, especialf¥n‘akgdemic

writing.

d. Sequence, or order is not important in describing a proces
10. The............ is normally made according to a crit eral criteria (Standards or
principles on which judgments are based).
a. exemplification  b. definition d. interpretation

11. Which of the following is FALSE?
a. Students may be classifigd-accozdn

b. Students may be classi:

¢. Students may be clasgsifie h as age.
d. Students may e ‘clas 11%(1 depending on age.

12. fferences are often noted when ..................... .
b. describing c. defining d. classifying
13 the following is WRONG?

a. The cause of higher prices was an increase in demand.
b. The consequence of an increase in demand is higher prices
c¢. The demand has increased; therefore, the prices are higher:

d. The demand has increased; for this effect the prices are higher.

14. When wemakea ........... we may be giving our own opinion or interpreting the information.
a. generalization b. definition
¢. qualification d. classification
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15. Which of the following is TRUE?
a. To add a conclusion that doesn't follow logically from what has been written before is
called a "non-sequitur”.
b. Introduction does not play a very important role in the process of discussion for g number

of reason.

¢. A good introduction should be ambiguous and should not be clearly co 0 create a
good impression on the reader.
d. The language of comparison and contrast is notdRetu sf@dy_ing tables and other

statistical information.

a. Seems that we should go.
¢. These informations are useful.

17. Which of the following is draimm¢

a. He did a number of attemp

a. He raised a new point in the seminar.

b. A new problem has arisen in the college.
¢. The sun usually rises at Sa.m in the summer.
d. Bus fares were raised three times last year.

19. Which of the following sentences is a definite statement?

a. Industrialization tends to be viewed as a superior way of life.

b. Industrialization is viewed as a superior way of life.
c. Industrialization appears to be viewed as a superior way of life.

d. Industrialization seems to be viewed as a superior way of life.
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20. Which of the following sentences is formal?
a. I showed that his arguments did not hold water.
b. He'll have to do another five tests before he can stop the experiment,
¢. There are a number of reasons why the questionnaire should be revised.
d. T wonder why he put up with those terrible conditions for so long.
21. Which of the followings is WRONG according to the rules of punctuation?

a. They tried, in spite of my advice, to climb the mountain.

b. If you do not understand, please tell me.

¢. I shall need a book, some paper, and a ruler.

He said, "why did you do that?"
d. He (Mr. Brown) told him that he (Mr. Green) is good for the job.
24. Which of the following is CORRECT according to the rule of capitalization?
a. John, Dr. Smith, the middle Ages b. the Mona Lisa, Ph.D., January
¢. Christmas, Vienna, Professor Williams  d. Animal Farm, the Nether lands, the Far East
25. Which of the following is CORRECT according to grammatical rules?

a. Some students was late this morning.  b. He doesn't study English, he study French.

¢. The course have taught me a lot. d. The number of students is less than last year.
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26. Which of the followings is WRONG according to grammatical rules?
a. The news was very good.

b. His research is progressing well.

¢. The police is doing their best to control the traffic.

d. The series of experiments that he conducted was successful.
27. Which of the following is WRONG according to grammatical rules?

a. Johns' essay was longer than Peter's.

b. Ann is as clever as Tom. U
¢. This. book is the same price as that one.
d. This problem is less difficult than the preyjou
28, Which of the following is WRONG according matical rules?
a. He scored the highest marks in the afpination
b. Some economists find thelleas resting part of their subject is statistics.

¢. The student did not do as mugh homework his teacher had hoped.

d. The bigger the.pfoblamtvas, the more interesting he found it.

&% £y, we have other kind of system; it is bigger and more better.
other hand, if we look the table of accidents, we will see these fact.

“he number of schools growed gradually till 1965 and then it rised suddenly,

d. Table 3 shows that most of these accidents occur to young children.

30. The letter "b" is silent in all of the following except in:

a. mob b. numb ¢. debt d. climb
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B. Each of the following paragraphs should be between 50 and 75 words.

1. Write a brief description in narrative form of the development of universities in your country.

It does not matter if you do not know precise dates or detatls.

2. Compare and contrast your country with one of the foreign countries.

3. Describe some of the causes and effects of poverty in yo

4. Suppose one of the following places is the sgengof gmep ode in a story. Write a description

for one of them.

-a library
-a bridge
-a small town O
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